
 

545 2 2 nah I

3 In 3 ox
A neo

Are o
00000

A do Xo I

to
Ffg Av Aw

I I



3
A v w 0

Tank3 Tol b unianii
b w

t.snoHEH'd
I 3 o

tag 132 1
4K45g 162 2

OR toy 102 3
0 3

1 2 I o

Itis I
3 59 132 18

ok



he 29 52
0 K

za tch 41
I l l Z L l l Z

3,72135 48,00 8 16 24
80 3 G K 12
CD G 3127143

O 3 G teth

K 7 0 if you have a Sol
40 no solution

my
1447 inconsistent
a ooo i
X 1 2

y 27 3

x l a f 9 I
F

O



EH

O
A F p

fit I Fit Eat'G
the



at btc
a 13 b 19C 3

b 14C 3
as

I l l l l l l l
l 3 9 3 0282
O l 43 0 I 43

3 2

L l l l l l l l
0 I 4 I O l 41
0 I 43 O 00 2

0 2

XtNg Z

2Xy 2 3

X C 2g 2 3

Xty CkZ5Jz
I l L Z
L 2 I 3
I l k 5 K



I
2 G

I l l 2
O L Z I3 4
o O k 4 K Z

D Ca I 0 3 I

if 143 4 Ckt2 Lk 21 0

FI2ImeoueistO L 21
d 00 4

15 2 0 4
I O 3 I
G l 2 I
O o co o 7 5

X 2

Y IZZ p
4 1433
y l 22
z Z

0
Ill



t.fi sttiot fil
What if K2 4 I o

l O 3 I

8 to i In

i



getz

z 2

43 I I
x tyqfV5

qtIee.s.I

xt

t

E y x

y 2 2
O Zz x z A x 2

I ilt



xty
at Ey E

I l l

l E e

2 H L I I

E I t I
f 2 Ao

I l l
O E 2 24 1

i had
Cl z

t 2

I o l 2

t 2



C 2

O 1 ZHI

H

t

z.az
2 t

t 2

HIEI
B toy Ba

r ref Ii



ooo

as I o

i

oui vrq.r.ge



o

i

ai j Vij

min

Ax x

x



wa

antiaux it qaka 9m4n

At ai
a 92 aim

92 I n

4 3 name

II
w v w

l IO
it AX o v w



All 912 dig rredato

A aa

941

prefer t

OO O

4 0
4 0
2 O

Mm'Yn rank _n

t

men AX O

i



ATE YEO

I l l

Matiz 852
rank

Nz T2 Nist 3 X 5 0

4X4 18 5
0

O l O 2 3

0004,80O O I 02

O l o o L

O O O I 2

X z X 5 0



I

H

it p


